


2Ca+ 0:2=2 CaO
2Al(OH)s = Al2Os3 + 3H20

SO: + H20 = H2SO:«

CaCOQOs = CaO + COz:



Tema: 3aMeIlleHHE MEAH B PACTBOPE
xnopuzsa Mmeau (Il) >xenesom.

(cTp. 267, onieIT 17)



JaKpennceHHe.

1. Kak pa3sauyuuTh peakiiiy oOMeHa U peaKIuu
3aMeIIeHua ?

2. IIpoBeAr COOTBETCTBHUE:

1. Peakiiuga 3aMellieHUA
2. Peaxiiusa oobMeHa

3. Peaxk1iiusa coesuHeHUS
4. Peaxk1iug pa3snoXeHUus

A. 2A1(OH), =ALO, +3H,0
B. SO, +HO=HSsD,

C. 2K+ 2HCl=2KCI'+H

D. NaOH + HCl =NaCl + H,0
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AoMalllHee 3a5aHHE

[Taparpadorl: 9.3, 9.4,
y.3,4 Ha cTp.160






